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excludable from income. And, only 8% of those surveyed could identify that there is an AMT 
formula that omits certain tax preferences from the determination of AMT.7 

§ About 15 to 25% of eligible individuals do not claim the EITC.8 

§ “The number of pages in the Internal Revenue Code and regulations has more than doubled over 
the past twenty years. Today's ‘short’ income tax form takes more than 11 hours to prepare - 
about the same as the ‘long form’ did a decade ago.”9 

§ Taxpayers worked over 3.5 billion hours in 2004 to complete their income tax forms – about 26 
hours on average.10 

The problem of the federal income tax being too complex has been a topic of discussion for many 
years. The Tax Reform Act of 1976 (P.L. 94-455) called for the Joint Committee on Taxation (JCT) to 
study the problem.  In September 1977, the staff of the JCT issued a report to the congressional tax 
committees explaining why the tax law had become complex and made suggestions for simplification.11 
Twenty years later, Congress requested that the JCT study problems of the tax law by issuing to each 
Congress (when funded to do so), a report on the overall state of the Federal tax system including possible 
simplification proposals.12 In April 2001, the JCT issued an immense 3-volume report, Study of the 
Overall State of the Federal Tax System and Recommendations for Simplification (JCS-3-01) which 
reviews the entire code and explains sources of complexity and possible solutions. Within two months of 
the issuance of the JCT’s report, the Economic Growth and Tax Relief Reconciliation Act of 2001 (P.L. 
107-16) was enacted which increased the comple9j
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Country 

Household net saving rates 
% of disposable household income 

Canada 1.4 
France 11.1 

Germany 10.7 
Japan 

http://www.cbo.gov/showdoc.cfm?index=6060&sequence=13
http://www.oecd.org/dataoecd/5/48/2483858.xls
http://www.oecd.org/dataoecd/5/48/2483858.xls
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In July 2003, the Senate Finance Committee held a set of hearings on the competitiveness of U.S. 
firms from both the perspective of U.S.-based firms and U.S.-owned foreign operations. Several witnesses 
noted areas where U.S. tax laws had not kept up with changes in today’s global marketplace and ways of 
doing business. As noted in testimony by the Assistant Secretary of the Department of the Treasury: 
“Many areas of our tax law are in need of reform to ensure that our tax system does not impede the 
efficient, effective, and successful operations of U.S. companies and the American workers they employ 
in today’s global marketplace.”18 

4. The tax gap is too large 

The IRS estimates that for 2001, the tax gap (the difference between taxes owed and taxes paid on 
time) was between $312 billion to $353 billion for all types of taxes. This means that the rate of non-
compliance with federal taxes is between 15% and 16.6%. The IRS estimates that its enforcement and 
collection efforts eventually bring the uncollected amount down to between $257 and $298 billion.19 The 
National Taxpayer Advocate notes that with 130 million individual taxpayers in the U.S., on average, 
each of these individuals pays about $2,000 annually to “subsidize” this non-compliance. The IRS 
estimates that 67% of this tax gap is due to non-filing and under-reporting by sole proprietors whose 
income is not subject to W-2 and 1099 reporting. The National Taxpayer Advocate also notes that the tax 
gap has grown at “ever-expanding rates” in the past 20 years. The gross tax gap was estimated at $76 
billion in 1981, $127 billion in 1992 and $310 in 2001. Thus, the gap increased 67% from 1981 to 1992, 
but from 1992 to 2001, increased 144%20  

The 2004 annual report of the IRS Oversight Board noted that public attitudes towards cheating 
on tax returns have worsened since 1999. In 1999, 11% of Americans indicated that it was okay to cheat 
at least a little on their tax return, that number was 13% in 2002 and 17% (almost one in five people) in 
2003.21 

5. The system is not neutral 

The current U.S. tax system is frequently used to create incentives to either encourage a particular 
activity or discourage a particular activity (that is, it is not neutral). Just about any economic, social or 
environmental “problem” can be alle oo

http://finance.senate.gov/sitepages/2003HearingF.htm/hearings2003.htm
http://www.irs.gov/newsroom/article/0,,id=137247,00.html
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http://www.treas.gov/irsob/documents/fy2005-budget-report.pdf
http://www.whitehouse.gov/news/releases/2004/09/20040902-7.html


6 

"cheaper" than having a tax preference for bond interest. However, such analysis is rarely performed due 
to its difficulty and the ease of adding preferences to the tax law. Also, once a tax preference is added to 
the tax law, there is not systematic approach to evaluating them regularly for effectiveness and value. 
Such preferences get added to the list of “tax expenditures” and measured frequently, but with no 
evaluation of their value.23 

Some preferences have evolved to the point of, arguably, losing sight of their underlying purpose.  
For example, a home mortgage deduction is allowed to encourage home ownership.  However, the current 
tax rule allows for deduction of mortgage interest on two homes, rather than just one, and on debt up to 
$1.1 million, far greater than the average home cost in the U.S. This rule also allows an interest deduction 
for home equity loans which have nothing to do with acquiring a home, but allow homeowners to deduct 
interest on loans used for personal expenditures – something a non-homeowner is unable to do. The 
charitable contribution deduction yields the same benefit to an individual making a donation to a private 
university or symphony orchestra as for someone donating to an organization to help those who might be 
viewed as more in need of philanthropic support (such as people who are poor or ill). In addition, a desire 
to help families and individuals pay for higher education has yielded several different provisions all 
aimed at the same goal. How many different types of preferences are needed for one goal? 

With respect to the likely impact of the tax rules on investments, the Advisory Panel’s Final 
Report notes the following effective tax rates on different investme itt nanntm e l tTj
(t) Tj88 T Tj
02 Tc (m) Tj
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7. The federal income tax violates the equity and fairness principle 

The selective nature of deductions, exemptions and credits arguably causes taxpayers with similar 
levels of economic income to pay different amounts of tax.  For example, an individual with significant 
medical expenses might get a deduction whereas an individual with an equal amount of education 
expenses will not get a deduction and so will pay more tax even thought their income and cash 
availability amounts are similar. 
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§ Transition recommendations for businesses: 
• Phase-out for depreciation deductions on existing depreciable assets. 
• Phase-out for interest expense deductions on existing debt. 
• 4-year phase-in for border-tax adjustments (tax on imports). 
• Special rules for financial institutions. 
• Perhaps others for credits and other items. 

The panel notes the tension between transitional relief, tax rates and the economic growth and 
efficiency gains expected from a consumption tax. 

 

For further details of both plans, see Chapters 5 to 7 and the Appendix of the report available at 
http://taxreformpanel.gov/final-report/. 

 

Commonalities of the Two Proposals 

Current Proposed 

http://taxreformpanel.gov/final-report/
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Current Proposed 
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savings bonds) 
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